Name;:

[

G)

~ Date:

. The systematic name for BaH: is

A) barium dihydrogen.
B) barium dihydride.
C) barium(II) hydrate.
D) barium dihydrate.
E) barium hydride.

What is the name of the compound whose formula is Alx(SO4)3?
A) aluminum sulfide

B) aluminum sulfite

C) aluminum sulfate

D) aluminum persultate

E) dialuminum tri(sulfur tetraoxygen)

The correct name for FeO is
A) 1ron oxide.

B) iron(Il) oxide.

C) iron(IIl) oxide.

D) iron monoxide.

E) iron(I) oxide.

What is the formula for calcium nitride?
A) CasN;

B) Ca:Ns

C) CaNO:

D) Ca(NO:2)

E) Ca(NOs):

The chemical formula for tron(Ill) sultide is
A) Fe3(SOs)s.

B) Fei(SOa)s.

C) FeaSs

D) Fex(SOs):s.

E) FexSOq)s.
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10.

11.

A)
B)
C)
D)
E)

Choose the name—formula pair that does not match.

A)
B)
C)
D)
E)

A)
B)
C)
D)
E)

. The formula for copper(1l) phosphate is

CuPOs.

Cus(PO4)2.
Co2(PO4):.
Cuz(POy)s.
Co3(POy)2.

sodium sulfite, Na:SOs

calcium fluoride, Cak,

potassium permanganate, KaMnOy
aluminum oxide, Al,O;3

iron(111) oxide, Fe,Oz

ammonium hydrogen carbonate, NH1COs
sodium chlorite, NaClO;

calcium hydride, CaH:

nitric acid, HNOx

calcium hydroxide, Ca(OH):

The formula for potassium carbonate 1s

A)
B)
C)
D)
E)

P.COs.
KLCOa.
P0,CO:s.
P,C.
KaC.

The formula for magnesium nitride is

A)
B)
<)
D)
E)

MgN.
MgNOa.
MgaNa.
Mg(NO: ).
MgsN..

The correct name for LiCl is

A)
B)
<)
D)
E)

lithium monochloride.
lithium(1) chloride.
monolithium chloride.
lithium chloride.
monolithium monochloride.
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12.

14.

15

The formula for chloric acid 1s
A) HCIOs.

B) HCIOs.

C) HCIO.

D) HCIO..

E) HCL

. Which name—formula pair is incorrect?

A) H,SOs, sulfurous acid
B) HCIO:, chlorous acid
C) H)COs, carbonic acid
D) HBr, hydrobromic acid
E) HsP, phosphoric acid

Which name—formula pair 1s incorrect?

A) magnesium sulfate heptahydrate, MgSO.-7H,O
B) strontium nitride, SraN>

C) titanium(1V) carbide, TiC

D) dinitrogen tetroxide, N2O.

E) hypochlorous acid. HCIO:

Which of the following equations is not balanced?
A) 2NaCl + Pb(NOs). — PbCl + 2NaNO;

B) Fe:Os+3CO — 3Fe+ 3CO2

C) (NH4)Cr07 — N2+ 4H,O + Cr203

D) 2Sb,0S: + 1002 — 25b20s + 4S0;

E) Ci2HanOn + 120, — 12C0O: + 11H0




Answer Key

l. E
2. C
3. B
4. A
5. C
6. B
7. C
8 A
9. B
10. E
11. D
12. B
13. E
14. E
15. B

Page 4



